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1. () A company had a market price of $37.50 per share, earnings per share of $1.25,

and dividends per share of $0.40. lts price-earnings ratio equals:
A) 3.1. B) 300. C) 938 D) 320. E) 33
2.{ ) Use the following informalion and the indirect method to calculate the net cash
provided or used by operaling aclivities:
Nt AINCOME....oiviiviiirorereeee e $12,300
Deprecialion eXpense...........ccoceveaenrenveninnneenne 12,000

Payment on mortgage payable

o fug ¥ P52

Gainonsaleof land..........cccoocovvveevivcriirenne, 7,500
Increase in merchandise invenlory ................. 2,050
Increase in accounts payable ........ccoccovireerenne 6,150
Proceeds from sale of land ........ocovviiiinvinnnne 8,000

A) $12,700. B) $13,900. C)  $20,900.
D) $28,400. E) $35,900.

3.( ) On June 18, Johnson Company (a U.S. Company) sold merchandise to the Frater
Company of Denmark for 60,000 Euros, with a payment due in 60 days. If the
exchange rate was $1.14 per euro on the date of sale and $1.35 per euro on the date of
payment, Johnson Company should recognize a foreign exchange gain or loss in the
amount of:

A) $60,000 gain. B) $60,000 loss. C) $68,400 loss.
D) $12,600 gain. E) $12,600 loss.

4.( ) On December 31 of the current year, a company's unadjusted trial balance included the
following: Accounts Receivable, debit balance of $97,250; Allowance for Doubitful
Accounts, credit balance of $951.  What amount should be debited to Bad Debts
Expense, assuming 6% of outstanding accounts receivable at the end of the current
year will be uncollectible?:

A) § 951 B) $3992. C) $4884 D) $5835 E) $6,786.

5.( ) Acompany had $43 missing for petty cash and that was not accounted for by petty
cash receipts, The correct procedure is to:
A) Debit Cash Over and Short for $43.

B) Credit Cash Over and Short for $43.
C) Debit Petty Cash for $43.

D) Credit Petty Cash for $43.

E) Credit Cash for $43.
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The following selected account balances are taken from a merchandising company's records:
Dec.31  Dec. 31, For the
2004 2005 Year 2005
$15,600 $21,200
32,400 27,400

Merchandise inventory

Accounts payable....

Salaries payable ...... 4,400 3,000
Accounts receivable.......cocooveeviriinin, 42,000 36,000
TOtal BSSELS.....vviveerecrreereireaeercerreeicsesnsnrrnes 234,000 286,000
SIS aeeereeeeeeieeee et s e sae e $312,000
Cost of g00ds SOId ....oivviviiniricnins 165,600
Salaries EXPENSe. ....cccurvrvienemenineie e 48,000

Required:
(a) Calculate the cash payments made during 2005 for merchandise. Assume alt of the
company's accounts payable balances result from merchandise purchases.
(b) Calculate the cash receipts from customer sales during 2005.

(c) Calculate the cash payments for salaries during 2005.

=+ 15%
A company issued 10%, 5-year bonds with a par value of $2,000,000, on January 1, 2005.
]ntere;t is to be paid semiannually each June 30 and December 31.  The bonds were sold at
$2,162,290 to yield the buyers an 8% annual return. The company uses the effective interest
method of amorlization. ’
Required (& 5 &7 B/ NIBELL T RAAT » SR AIPSHE AL A):

(1) Prepare an amortization table for the first two semiannual payment periods using

the format shown below.

Semiannuat Cash Bond
Interest Interest Interest Premium Unaimortized Carrying
Period Paid Expense Amortization Premium Value

(2) Prepare the journal entry to record the first semiannual interest payment.
(3) On January 1, 2006, the company calls the bonds at 106. Prepare the journal

entry to record the refirement of the bonds.
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On July 31, a corporation reported the following stockholders' equity:
Common stock, $10 par value, 200,000 shares
Authorized, 100,000 shares issued and outstanding  $1,000,000

Retained €arnings .........cocoveveeverieiinnrioeer e __350.000
Total stockholders' equity .........ccccocereiivinieiiciein $1,350,000

On July 31, the market value of the corporation's stock was $15 per share. The
directors were considering declaring a 10% or 30% stock dividend but wanted to

know what effect each stock dividend would have on stockholders' equity.
Required:

= SRR A X

Calculate the balances in the following accounts for each proposed stock dividend
distribution.

Balances after Balances after

10% Stock Dividend 30% Stock Dividend

Common stock ....coooeovvvvvene
Contributed capital in

Excess of par value,

Common stock ...........occ.c.
Retained earnings ...........c.......

Total Stockholders’ Equity

i~ 10%
A company uses the retail inventory method and has the following information availabie

conceming its most recent accounting period:

At Cost At Retail
Beginning of period inventory $ 148,600 $ 245,200
Net purchases 677,400 1,229,800
Sales 1,200,000

Required:
1. What is the cost-to-retail ratio using the retail method?

2. What is the estimated cost of the ending inventory?
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the following adjusting entries:

A. Accrued service fees earned of $2,200.
B. Depreciation expense of §8,000.

C. Portion of office supplies (an asset) used, $3,100.

D. Accrued salaries of $5,200.

E. Revenues of $7,200, originally recorded as unearried, have been eared by the end

of the year.

Required:

Complete the following table in your answer sheet and determine the correct amounts

for the December 31 financial statements by:

ed financial statements for the year ended December 31, but failed to include

Assets

Liabilities

Equity

Net ITncome

Reported amounts.......... $350,000

$200,000

$150,000

$70,000

Add (subtract) to correct

for item:

Corrected amounts............ $




